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February 28, 2014

3.5 Mental Math and Estimation

Important Note: Estimation is an approximate answer to an arithmetic

problem.

Some Mental Math Strategies:
1. Use commutativity/associativity/distributivity

ex. 13+21+45+ 39 + 27
=([3423)+ (21438) 445 = YO FLo F4S = |45

2. Additive/multiplicative compensation (aalo\ QUO/{/\M lke\"k bﬁ' ])
ex.98+47 = {42 +43-2 =100 +Y45 = | Uy

(% L4(5)= o5 +4S
(3)- 999 o nppgena,  HOES

3. Special factor

ex.48(25) = (@ (5)/¥\_ - yvy - [200
= Y20 %) T{l )

4. Left-to-right addition
ex. 237 +436 = (oo + o+ \3= b33
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Some Estimation Strategies:
1. Range estimate

ex. 196(23)
3420= |%(20) £ AL (23) < 202(23) = 60O

2. Compatible number estimation

ex.89(15) = qo(\1s) = [350

3. Rounding O
ex. 2317 + 4341 = 2320+ Y3L[0 (e dons Arapt)
= LGDO

2D 400 = oo (e hundieds digah)
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More examples:

1,40+160+29+31 =7po + bo= 20LD
—~ N

2. 75+ 28 -%D.no}y@ -(-8) ©?S' +725 43= |03
= q0%13=103 @IS HBS=040

=03
3. 3679 - 474 @ Z842438-2 = 30+33=|073
O = 3ta9-yay-s«¢ (© 3Itoo-0+ boo-Yo0
=365 -4 q = 322045 =310 o390 +9-Y4

- \9) = 3 = S
4. 5075+25 Qoo L, IS o+ S =320
2% +32—g @3500—&(00 —+39-74= 3205

=200+3=¢0R @ 9935 =|>
5. 1233) = 3( 9 25 (T ?200012-300
o0
=207 93

6. 25+32x4 -;(25.4)32: 320

7. Fliers are being delivered to 3625 houses and there are 42 people who will be
doing the distribution. If distributed equally, about how many houses will each person
visit?

362S + Y2 =~ 3005 40= 9o
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Without computing, tell which of the following have the same answer.

(a) 88(44) and 44(22)
# 22(44)

93(15) and 31(45) ﬁ'B(l?)= 3(31)(15) = 3\ (3-15)
=31(45)
(c) 12(18) and 20(17)

7

Can you "estimate" by calculating the answer exactly and

then rounding?
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3sP
“> () 3413 = |+ =( ]?LI'US*?
L3+—= 14

=I0+sS+l=)0 o4k ¥

J4Y=

MC &4 [\

/—-S 3 HAS17949= Yroo D ya(s144a)
O1%33F 42373 = 350 = 44(joo)

o 1937437 =3700 =1
(31423« |Do(3q))

”"ﬂﬁ () 2218 + 302343+ Y3
= 12000+ 200 = 1200
nec “}1\ 2% 3849y = 3o

3¢ ()= (3(|oo)+?(|‘0§+tl(\s> N

=3(18)10 + 310)10 +Y (1) (1)
=3(10 ) +3(10%) 4 Y(10) =35t0
234 (|0§>= 340,
R (4) 2as-L = (25)(E L) =o(sq)= syo

») 32534 = (2549)(87)=506oo



